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GENERAL MATHEMATICS
PAPER III

Do not open this question booklet until you are told to do so. While waiting, read the following
carefully.
1. Use HB pencil throughout.
2. Use of mobile phone is not allowed.
3. Use of scientific calculator is allowed.
4. All diagrams are not drawn to scale.
S:

Examination NUMDEr:...stsesdcaesnnensssasstassnnss goeseeity: .

NATIONAL EXAMINATIONS COUNCIL

Take 7t to be 22 except otherwise stated.
7/

Senior School Certificate Examination’
1 hour 45 minutes

6. Where your answer sheet is not customised, provide the following information:

(@) Inthe space marked Candidate’s Name, write your surname in capital letters

(b) In the space marked School Name, write the name of your school,

(d) Inthe box marked Examination Number, write your examination number in
the spaces at the top of the box. Shade the corres

7. An example is given below. This is for a candidate whose
Uche, with serial number 0010, examination number 654

followed by your other names.

marked Subject Name, write General Mathematics III. :
(¢) Inthe box marked Subject Code, write the di gits 1023 in the spaces. There are

numbered spaces in line with each di

number as each digit.

same way as for Subject Code.

General Mathematics I1I (1023).

National Examinations Council
SSCE ANSWER SHEET .

and in the space

git. Shade carefully the space with the same

ponding numbered spaces in the

Candidate’s Name:

[ School Name:

GAMBO Bamidele Uche >
Government Secondary School, Minna

Subject Name:

General Mathematics |I]

Use HB
pencll| to
complete
this form.
Mark like

this ==

Erase all
errors
thoroughly.

Serial Number

e !:! [0] l:!
[ 6 B
‘rrr
[5]1 (5] [5] (5]
[6] [6] [6] [6]
mn

7] 7]
[8] [8] [8] (8]

9] _I9] (9] (9]

Subject Code

[0] 18 [0] [0]
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[8] [8] [8] [8]

91 _I9] [9] [9]

name.is GAMBO Bamidele
32100BD, and who is taking




PAPER III

Answer all questions

An example is given below.

The product of three numbers is 3876. Two of the numbers are 17 and 19. What is the third
number?

A. 57
B. 12
€. 6
D. 3
E. 2

The correct option is ‘12’ which is lettered B. Therefore answer space B would be shaded.

[A] e (C] (D] (E]

L Express 0.001025 in standard form.

Bl
1.025 x 107 o-@@ﬂoz@ 3. Evahuate ~312_, (g 9o}t

A.
4 i 0.3
& LEIE e 4" ot
. —_— 3' e
D.  1.025x107 8; 5T X (0-04)
E. 1.025 x 107" ’ x : B el
; o1 9>
2; Find the positive difference between D. 1 3 X (luo
rounding off of 3,847,934,000 to the 3 % N
nearest billion and million. 1 gl} (q X \ oD
84%9%4, 000 9 L S Y -v.j
A 150000000 | 2K 924, X (o5") X[ﬁ % LoD
® 152,000,000 |NEMEH Pildion 32 )]
C. 200,000,000 |* A4 060D, 000, 000 Ax @) %2>
D. 250,000,000 qw_gﬁ T - v Y
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" c) / 0._ & O, A x‘o—l)
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4.

6.

Simplify (0.027) x(0.09)%. 3, 7.
f\s (o-027) % (0-69)
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A particular bank paid 50k dividend
per share. What would be the
percentage yield for a customer who
invested ¥5.00 per share? i
- 1 - A dovidend X
%)" oid = monty el g,
Ace- divi dend = BOK =NO-5
e O %
DU dreld = ——%(—”—@
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: .. 1.6 x0.0084
Simplify =048

your answer in standard form.

and leave

I'eX 8-  \10.
A. 2.sx10‘f P P4t
o 2.8x10°
€ 28x10° [LEXE% -5 g
D. 2.8x10] 4% - 2exae’
E. 2.8x10

The cost of a motorbike is
¥110,000.00. If the value
depreciates by 10% yearly, what will
be its value at the beginning of the

following year? 0% eF /10,000

e ¥11,000.00 |0% X &lIp, ov0
B.  N88.000.00 lov %
§99,000.00 | = Il 02D a
D.  N108,900.00 |Cosf iwu w?
E.  N121,000.00 | A¢% #1110 0vD — Nifooe
= 899, 0TD
A and B are sets such that

Ay .~ 80
34
e
D" .45
Es = 2156
Ir2 y%

A.
B.
?@:

Solve the equation (2” )% i ds

Al

B.
©
D.
E.

n(A)=26,n(B)=19and J

n(ANB) =11. Find n(AUB). | A &
(2 ()3),

> 54U+ g =2
:> x:%

—5=-1, find the value of y.
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11. How many years will ¥100,000.00 188
amount to ¥180,000.00 at 5% simple

t)
interest per annum ¢ = ’& value of y. +42F med §
e $>I='”——L'°E&=#§m EH RN Lok
16 oo g 5= %3
© 20 [Amewd=T+P G 3]
D. 36 [T =Anouit— P@.tm..x««) D, 4 i
E. 50 | detnd MMI mo, et
2358 81 i i) =" 14.  The 3rd and 7th terms of a
12 If B={3 0 —2| determine the Geometnc Progress:Fn SG .P.) are 72:}.,_(4- %
. 8 3rd and lf-K =
Lsoealiog i3 : 2 3 I| and _ respectively. [}
transpose of B Hl 9 2-1 e Y= $us
p i 3 o-2|= 0 Sl Find the 1st term. Q? =Z‘1 ® y:(ﬁ)"lr
I-13| [0-23 A G =y
( 2% 351 AT BN T20 'Fl-om Zritum g 272
A. 1 0 -1 Datut boe. ® 648 ar*=F2 QY-
e b e G576 a =% (A7) =F2
> C°"““"* D} %958 QuAold [ql =¥z
olunms become E 216 (E)Yb—g/
(298 53" TN R e e = =648
B. 1 05 2= 15. In a class of 30 students, every or
0 5 3 student has at least a ruler. If 25
\ £ students have white rulers and 20
/ - students, yellow rulers, how many
) students have rulers of both colours?
(2 3 1) Y =clags
@ 1 1 B2 " 25-24+20~x $x |
J B. 50 =30
0Ny fied ¢ A5 ->45—x 30
15 30 |22 =306
(2 e E. 10 X =5
Zs D=
D. ko ) 1 16. Five numbers form a Geometric 5
Oi=27"3 J Progression (G.P.). If the 2nd and
Sth numbers are 9 and 243
respectively, find the common ratio.
[: s Tfrem 4nd ferm
A. -9 2- %Y' = -#‘
- P i B, =3 A>T pe
2 & 2 | Qr=9 2=2
3| A= > v <f
E. > |a fméb 5&{24-«. Sr= E/
are g 42
Q4 = 24?
AT
?r‘zlq;a ol
p

If y is a whole number such that
3y+4 =7 mod 8, find the




i 5

18.

19.

The first and last terms of an
Arithmetic Progression (A.P.)
are —2a and 38a respectively.
Determine the number of terms if its
common difference is 5a.
L=a+(n-)3 |Sn-

=8
Saz(2)Hn)5e| N

9
Z

i i

On Clara’s tenth birthday, she began
to save 2,000 .00 every year in a
kidsave account with an annual

interest rate of 20% compounded 21.

annually. What will be the worth of
the account when she turns 187

A (4=
N8,599.63 |p 1%‘ ?ra & 201.
5. N20,799.00
C.  N3299817 [PA= lm(|+3-9-)
D. N41,597.80 = :Lm(l 2P
E. 546,000.00 -_ m(4 .294%)
= 88963

The cost (C) of a car service is panl\
constant and partly varies with the
time (T) it takes to do the work. If it
costs ¥500.00 for a 2-hour service

20.

Find the gradient of a line joining the
ts (-5, —6) and (5, -2). F

points ( 1 [Wo
A8 7 g—: - _C&l

2
o o
® : H [ ¢ 5’
Ce - (__

2 (—2)'(“)3 [z

1
Er 1- *&o __*x +20 ;

2 g - 0—;% ﬁn_‘lfw
Given that e: ABCD isa rhombus

f: ABCD is a rectangle.
h: ABCD is a square.
Which of the following statements
represents e A f <> h?
A. ABCD is arectangle ifitis a
square and rhombus.

ABCD is a square if and only
if it is"a rhombus and
rectangle.

C ABCD is a square if and only
if it is not a rhombus and
rectangle.

and N300.00 for an hour service, D. ABCD is a rectangle if and
find the cost of a 3-hour service. only if it is not a square and
c=a+Tb [Dc=a+th rectangle.
A ¥§600.00 E ABCD is a rhombus if it is
=G+2b @|C =lcD+3
g_ mgggg go‘:—a+b &l =100+ Eé'w) not a rectangle and square.
©  N700.00 fiy -G8 a2
E N800.00 1 m=b
200 for b i)
aof;mco
Q= 200-259
’ Q= lo0
*

]



22.  Solve the simultaneous equations 25. Ifp:xisaneven number.

7a+3b=5, 2a+b=1. (@ 2a+3622 q: x is a multiple of 3.
& (24) 23+ b = ' What does ~(p A g) stand for?
A a=Tb=-21(3)-0y

x is an even number and a
multiple of 3
x is an even number or a

multiple of 3 :
x is not a multiple of 3 and is

_21 2b=4
a=—, b=2 b=2 :

2 i-fbvbé«ef;w&)
C. a=—,b=-2 |29 .fg@.):f

A
B
€
D. L | ) 9&:5’5 s

1 a= "y?- D. It is false that x is even and a
% TR b=§ Fa=-"Y b=2 multiple of 3

/ @ x is not an even number and

not a multiple of 3

28, Solve the equation

2x =13 k=2 %
2 SR
1F').ac - _ é_x___’_‘}_:,_ 2;-_. 26.  Solve the incquali?y x < -’35 + 4.
o 2(zx-) -2(3%2)= 3% TG ) ax/_gu-m.
3 é x<6 2
c. -1 Pré-p-aiy=2% C. x<4 |3eesizetiz
3 —2t4 =22 D. x<3 Dzp—de L2
1 j = ger E x<-12 2 L4
3 =t = yg 246
E. 3 a’—4a+3
27 Simplify —— g
| plify ————¢
24. Determine the equation whose &
product and sum of the roots are -4.5 )| Q- 44 +2
and —3.2 respectively. Lﬁ i“" t'rff:'* Py a* e 6
*Then Botts At numerido
A. 10x* —32x-45=0 oLP‘P-"l#"é" @ B a+l detmﬁndwzt
B * 10w #32%+45=0 [ 3des il o 902 2:44%1@ epepressons-
(©) 105 +32x-45=0 b e 2 we fadtorze
D.  10x*+16x-9=0 ""P"__tf—"zé,z_& c — |a=33-g+2
E. q“‘—gaﬂ‘ZQO"é

10x> =16 -9=0 - . ¢
x*—16x W? P’u. W D a-1 23 D)
- '1_4): —4-5 3 a-2 pIGE q+2
0‘( 2 a(a-2z)t2a -2,
~L(z:2+)="42 g 2L | @B _D)(a-%)
“ a+2
‘ = k=452 =VOF avz)(
' = p=-32-10F= 42t 3 q-| :
Szl 0F p=z 42T a+z
2 2z '0F or =4 2F o
2~ et>0 o Xdhp1F 20
(x;—loﬂ')(x.ﬂmq.): 0
' X 44 23% ~ | 2 ~H6= 0
L+ 2 2% = fpob = O
Mehiplyg Houth 1O
R VOx* 4 22246 =0 | 4




28.  The roots of a quadratic equation are 3¢ - IfSUE II lli.ll((e llJreagn“t/‘:)t:ltle):tter.
v: Ilike lem .
-2 a“d% . Find the equation. % ool Translate “I like lemon for tea, but
peael jNE2 not bread with butter” into symbol.
: 3 x+2=0, 3p-1=0
g' §x2+5x+ ~ (xa}z)(gx—l) =0 A. UAV
: x*-5x+3=0 z Lo B. vvu
& apissotoles SR ©) va~u
; : 3}’-.;-5,5-2.:0 D ~UVv
3x*+5x-2=0 E. i
E. 3x*—5x-3=0 '
Use the graph below to answer
1 questions 32 and 33.
29. Ifxx<c—andx=4 wheny=3, B i s o g | L T
T TR 05 ke 1 R ) o 1
find the Yal ol »\l/heny=2. K I g\ﬂ ol 53 ':jﬁﬂ :L‘.!.;T. ; o
26*-/22 J X—"’gf- : 1] i i 'E;f:il:é"li—]
Abtheyg : § S
@ 9 %43%‘/ 4= Kfq ) R
AW e oo i S
4 . > =
x-d=9 T
30.  Make b the subject of the formula - ‘— =
oo AP g LT D3
de 1 i '—'\!% b b A
e ey
B cd’ 9. v _t_ i
T cl:- %—czb el o
s LR =ab-cEh)
' a;zcz =>C'A£ i %L, _32. Determine the solutions of the curve.
R o A x=diosra
i 3 . 2o0r32
c' —a — b
cd C‘l 'b,(q f’) B. x=-130r34
e b=a_c3 éb‘:-__C_A___ @ x=-140r35
a-c’ a-C* D. x=-15or 4.0
= i ol E. =-1.50r5.0
33.  Find the least value of y.
b
B. =5.1
C ~-4.5
D -1.4
E 35




3 3 0 37.  Inthe figure below, @ isa
. =2 and 0° <a <90, _ :
- B 5 S diameter of the circle PSQR with

evaluate 3cosa —2sina. centre O. If PQS =65°, find QRS-

Cosh=3 2(o#91%) =By
1 >3 (34— % A
5 SRS é?fs—l-gwf
B. 4 oL=0os 06 =02 S
5 |d=B2I =Y
1 ; 2
C 5 [DAeosd) R
b, 3 [Plesszi)is Q
: 5 A ° P - PC‘—)
- 2%~ i)) P5@=90 (L(w 5052“' >
B0 i 53 A 115° Ps = 180~ (90+65)(5um
5 |2(ens e A C?Pé}\__= e
35.  The bearing of Y and Z from X C. 65, 4 - arl
06 f" ;a:?%()% ressgctivel; m e D. 40: ">QR§ = (‘;‘“‘ e Same
Calculate [YZ] if [YX| = 3 cm and B2 &gd"“““) e

XZ| =5 cm, t t 4
{2 siéniﬁ :arnnt ;(;:::S.your e ;.L 2 o 38.  Inthe diagram below, MKLN is a
Y Iy =3C’:i;2(‘17) cyclic quadrilateral and the diagonals

ML and KN intersect at X.
Ay 3 - 2 ¢ 2
e =34 :%;‘2:5") If NML =40° and MRK = 80°,
T 40cm it 1104 calculate MLK.
D. 4.1 cm
E. 50cm X Sera élYZ‘: \ “*8’3:”

z a

36. The curved surface area of a
hemisphere is 7,700 cm®. Find its

diameter. w4
Aves
(Take 7 =22) %ﬁm % in'z
. =% = 270r* “Kroad A ¥
A 17.5 cm ;>~4_/m - 9_)&2-_2_-,)(?1' i 100° MNL:'.QO(L w Samar,_d‘)
@ Mo | - PRPE huh B 80° | NLM =1§0-%0—40 = 5"
A e B i'#r é o0 | MKN = 502 % 4T se1)
E.” "= 87.Tom {3, 55 90D = 4h ™ E. 200 | LMK EQO:@ (< & sema
A KNL = BO'(£ s Same <)
r*= [225 MQKA =90-50'= 40’
2y = éM‘-K= o' (< w
sl 4G & snomge)
M(r—:_ LX¥r
=92X%Y

=Focm
—




In the diagram below MNO isa

Find the y-intercept of the 43.
tangent to the circle. Calculate PNO.

line 4y +3x 2= 0.

“The w&uuﬂr u

A. —i LK\-L Vilue 0
B. ~= [=20The
‘: e &('m Qm/, th
Gt bn M
2 1= 2+z£o) 4w
;| 45= 2
“ G=24% 4 '
E. > 3= % = [go-(@zﬂé)
— =3 3
g';lseoanl%lteh ofa sect;)trh of a circle is A. = 8’2’(‘&*"" Lef 4)
: e area of the sector is B. = s
352 cm?, calculate its radius to @ %QNO:: ,5820 (82479-2)
2 decimal places. Gy D. 83°
(Take w2 2 [Aves of seclor 2 ;",uri B 1. T =Po ‘%1;45
7 ~ 295 %
%éﬁlﬂ,ﬁx—ﬁ-’:xr 44. A sphere has a radius of 7 cm. Find~
A. 2.10 cm 350 = zé‘lzgv'z its surface area. hm .. ,q‘ur
B. 3.45cm 2 22
© 370em |[P352=26¢* g(l)g 5 e . it
ED' gg} ol i C. 205em? |4X2714X49
Bairngeds G0 ¥ = 3-Fem D. 154cm’ | =4fbcan
S E. 88 cm’ =

Find the angle between two straight
lines whose slopes are 4 and 5, 45.

Calculate the perimeter of a sector

correct to | d.p. whose radius is 21 cm and its angle

at the centre is 150°. O Pgmw'kr (,1‘21—-
A. 25° (== 2Hr
B 26 A 2310cm |20 [DPer.= (42
) B. 1310em ["20x2K2y |= 55+(2x2i)
D) ) C. 210cm |2¢° = 55 +42
E 590 : 105cm | 19982 _ =9

@ 97cm | Do ~2°| = e

If the radius of a parallel of latitude

is 4,500 km, find the latitude correct 46.  Find the equation of a line that

passes through the point (1, 1,2) wh_ose o

to the nearest degree. Radius ol
g b e L%HW gradient is % ; m 3“‘ o
A.  45°Eastor West |V =Reosd p y iﬁ”“m <
B.  45°North or East _—;74501::54(_5)) (ot8 g ;z ti = ZS Cé A= mbl- X
@ 45° North or South Coed = 450D 3 2__73 (X. ‘B
D.  50°East or West C. 3y-x=7 o a2
E.  50°North or South 3y plle
(os= 0495‘ E.  y<3x=] ==
-t
4 =(of (073]) S z_x‘l
*ﬁfrf or W -2e.z =\+b




47.

48.

49.

50.

10

Calculate the area of a circle of 915
radius 3.69 cm, leaving your answer
in 2 significant figures.

2205 S
(Teketm = 0 Avea of Cordke 7T
82 it
e il e a il
B. 12 cm - 128
€SS 0s em? I ¥ 2 2.
D. 42 cm? i‘LH'/_?,m
@ 43 cm? i

Calculate the circumference of the
parallel of latitude 60°S correct to 3

significant figures.
(TakeR=6,400kmand7r=%)
A. 20,000 km |L or Y Cortum—
20,100 ke (ferfnice of the pewrsllel of
C. 20,110 km |lsAfude

D. 20,114 km [where b= R gt

E.

= 22260220,
Find the mean score of ten students
if the variance of their scores is 8 and
D x* =2040.
A. 2.82
B. 11.83
€. 14.00
D. 45.14
E. 64.00

The mean of five numbers is 6. If
the numbers are 1, 6, x, 8, 7, what is

the mode? MUM 5036: PYA ,’.éz.*rﬂ.;
e o 2y 53,
(3 6 E
é Z >3p= 24122
X =¥
éww?le;g

A
B
@ percentile
D

A
B
C
D.
@ 1.44

Which of the following is not a
measure of dispersion?

: mean deviation
; median

) standard deviation
E. variance

The standard deviation of the ages of
10 students is 1.2. What is the

variance?  [gn,Aderd MJ%:@V&M;’;

e

3.46 | =>[r2 =\|Varinuce

316 | s ) {'—‘——Vm:w)"

2.80 2
1.86 |=> I"44 = Vamance

Use the cumulative frequency curve
below to answer questions 53 to 55.

40,200 km [PV = 640D X otbp =320

Cummulative frequency

A 500 | Yhe media Value s Hhe
B 345 |Value onthie hevizontal
(g) 305 [Gods (Hae wppor clas bvundaig “)
.

250 Hbwat onds to

100 Hotaf -f;gl o ik 305

o : 253 : : :
TH i i i E
S T R 1
i heds 2! :
.'_‘ 4 B i - lL i|’1~ by
= HaT 7
3 LHERHE i i
T Lven 24 pa 3 ¥ b
6 T s SMETHTE HH
b~ L: i
it
i
: g
i3 ;
Siiasd i
it i
3
Tt
g ]
-% 4
boal i3
¥ . Y
3 31
THTT
iy
il : i
{4ad =
:‘j B :
1 T T T H R TATATTITT T Mttt e T
Upper Class boundary
: g
Find the median value,

e
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54, Calculate the 6th decile.

) b 4 58.  Differentiate 3x* —7x—4 with
A =
B igg 61.6\ MC ) f respect to x. §x P ~4
: Let y=2x>F2
é gz(s) (i—‘)éo 4 6)(50 20 2 3x' = =4 g : 2 l) —:.-»)
E. 20.0 COWT:! Wm B. Pl (?)‘l
55.  Determine the 80th percentile. G thibnsT =
N e R S =
. : x —

B o 555 8’0)4 From Hhe

@ 45.5 o s 45-£ 59,
L 40.5 N Hhe horizade
B 355 m)go oely.

Use the information below to answer

questions 56 and 57.

The table below shows the age

distribution of students in a school

choir.

Age 1213 (1415|1617

Frequency | 2 6. 1fo-ali3 60.
56. How many students are in the school

choir?

s A

B by =20

o -

D 25

E 30

57.  What is the modal age?

6
8

B.
g a0 b
$
HART

If y=x(x’—x+1), evaluate I_llydx.

+(®)

D.
E.

Y= 2 (e +1)
— % 2‘1 z_“ ")( z&—‘) u-" )
0 = (éz -z‘)

11 __,

15 C. 24+) ot)
; '>5 .? 1S
é&(x"’—z) (r’-n)—o (.(%..),o

What is the value of L(l —2x) dx?

= (PO » >

1+i— " u'i

=>Sm=” L 3
=>§L2.<°il"’ (3=

gk

—% g(v.zz}:\/x
1
2 |[kebu= l—-lx
0 m=u
1
3
4







